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iE MESREAEE
% # 1B - IR E B B i i HE

EENEE 3,995, 199
ERE 3,995,199 x 80.5% — 1,334 3,214, 801
AEEER 3,995,199 + 3,214, 801 7,210, 000
BRI 412,200 + 12,366 424, 566
EEAGE 412, 200
EERE 12, 366
T O R 412,200 x 53.85% ( 35% + (1 — 35%) ) 221,969
EHRIE 424,566 + 221,969 646, 535
—REERF 646,535 x 53.85% ( 35% =+ (1 — 35%) ) — 4,694 343, 465
AERTE 646,535 + 343, 465 990, 000
AEEBEE 7,210,000 + 990, 000 8,200, 000
B EET 8,200,000 x 10.00% 820, 000
AEEBE 8,200,000 + 820, 000 9, 020, 000




BERNRE HEERRANEE
4 b3 g - BR-TE BAGL 2 fili ® B W=
EEIEE 4,419, 765
BIEEH 4,419, 765
K ERH 2 2,995, 791
TILF E—LAIE 2,872, 491
B2 470, 355
1 BIE#E 1.00 381,527 381, 527
=
2 HEMTENR QEERY) 1.00 88, 828 88, 828
=
KRAZ 2,069, 092
3 MBETR L (GERMD 1.00 355, 084 355, 084
=
4 BETR N GERRAD 1.00 341,878 341, 878
=
5 TILFE—LBAE (ER5MAD 1.00 699, 401 699, 401
=
6 TILFE—LBIZFE GEERME) 1.00 672,729 672, 729
=
BE 189, 844
T RBET—2 774 ILDER KHER) 1.00 189, 844 189, 844
=
& - |E 143, 200
8 BHIRE 1.00 86, 750 86, 750




BERNRE HEERRANEE
4 [ R - BKTE BAGL 2 i ] W=

9 m¥RIRe 1.00 56, 450 56, 450

[=]
EERZE 123, 300
R 75, 000
10 X% ES Kb (RILFE—LBIE) 1.00 75, 000 75, 000

=
ZDih 48, 300
11 EIRERE 1.00 48, 300 48, 300

=
SPERA=E 774, 489
UAVEER#HA= 755, 489
RIE %0 94,922
12 {E%ETE 1.00 94,922 94,922

=
UAVEER#HA= 355, 149
13 EERRUVRIESADERE - Bl 1.00 172,371 172, 377

=
14 UAVIZ&L B ZEdiRs 1.00 182,772 182, 772

=
R 305, 418
15 ZRTHKRET (FUPFHILT—4 1.00 20, 652 20, 652

DERK) .

=
16 559 FF—2 DERRUEELE 1.00 94,922 94,922




BERNRE HEERRANEE
£ b3 g - BR-TE B #H B i ® B HE

17T RETF—2 774 LOEKR (KHER 1.00 189, 844 189, 844

) =
EERZE 19, 000
RE 19, 000
18 EHMER S8 (UAVL—HEIE) 1.00 19,000 19, 000

=
FEXEE)) 649, 485
IRTT— B R 424, 566
IRFTT—HER 424, 566
19 3RTT—2ERL 1.00 424,566 424, 566

=
WMESERK 224,919
WMESERK 224,919
20 SMESER 1.00 224,919 224,919




R &I/ \vr—2

REZREF

&5 1
%5 . BIEERE IEED
£ b3 B - BIKTE =-Fiv] = fili ] W E w =
B2 FEHEm
A 2.00 60, 600. 00 121, 200
pili=g5 31
A 3.00 52, 300. 00 156, 900
I E H A
A 2.00 41,100. 00 82, 200
RIZBF
A 0.50 34, 900. 00 17, 450
HAH 2{R0Y%
% 1.00 3717, 750. 00 3,771
& B 1EZRERN  1.00K 381, 527. 00 381, 5217
52
£ BAERR QEFEESZY) IEED
% b R - KT BT H = i 2 W E H %
HIEWHENE
A 2.00 28, 700. 00 57, 400
cSwo 2t3&
H 1.00 30, 549. 00 30,549(4.70H / 8H
MR 2{Rn%
% 1.00 87, 949. 00 879
& B 1E%8ERH : 1.00=C 88, 828. 00 88, 828




RER-FET/\vr— MESEENES

&5 .3
B BETX N GERSMD
£ 5 1R - KTk B % 2 -] & #E B i

ZBE 54 FRY 2L

H 0.50 3, 588.00 1,794/2.00H / 8H
A= FRP D 70PSZ!

H 0.50 81, 980. 00 40, 990(8H
B2 FAEHER

A 0.50 60, 600. 00 30, 300
B S HAm

A 0.50 52, 300. 00 26, 150
B EHENE

A 0.50 41,100. 00 20, 550
HIEBNF

A 0.50 34, 900. 00 17, 450
GNSSHIfIZEE RTKGNSS (4FEHEBHAR)

H 0.50 88, 770. 00 44, 385
TILF E—LEZEREH 36~455kHz

H 0.50 339, 900. 00 169, 950
HMH EXeNOT)

% 1.00 351, 569. 00 3,515
& B 1E%8ERH : 1.00=C 355, 084. 00 355, 084




RER-FET/\vr— MESEENES

BS54
&% BETRX b+ (EERAD
£ [ R - KT B B =2 B {f £ £ W E i

ZThE S4RAY 2L

H 0.50 3,588.00 1,794]2.00H / 8H
LA 3] 15PSEY

H 0.50 55, 831.00 27,915|8H
B2 FEHEm

A 0.50 60, 600. 00 30, 300
pili=g5 31

A 0.50 52, 300. 00 26, 150
B EHENE

A 0.50 41,100. 00 20, 550
REBF

A 0.50 34, 900. 00 17, 450
GNSSHIfIZEE RTKGNSS (4FEHEBENAR)

H 0.50 88, 770. 00 44, 385
TILF E—LEZEREH 36 ~455kHz

H 0.50 339, 900. 00 169, 950
MM 2{KDY%

% 1.00 338, 494. 00 3,384
& g EBER - 1. 00K 341, 878.00 341,878




Rifisk- BT/ vy — AESEANES
ES .5
B TILFE—LAR GERESMD IEED)
£ 5 1R - KTk B % 2 fii £ B i
ZBE 54 FRY 2L
H 1.00 3, 588.00 3,588/2.00H / 8H
A= FRP D 70PSZ!
H 1.00 81, 980. 00 81, 980(8H
B2 FAEHER
A 1.00 60, 600. 00 60, 600
B S HAm
A 1.00 52, 300. 00 52,300
B EHENE
A 1.00 41,100. 00 41,100
HIEBNF
A 0.50 34, 900. 00 17, 450
GNSSHIfIZEE RTKGNSS (4FEHEBHAR)
H 1.00 88, 770. 00 88, 770
TILF E—LEZEREH 36~455kHz
H 1.00 339, 900. 00 339, 900
HMH EXeNOT)
% 2.00 685, 688. 00 13,713
& B 1E%8ERH : 1.00=C 699, 401. 00 699, 401




RER-FET/\vr— BESRLNES
ES:6
L TILFE—LBE CERRMAD EE)
2 7 1B - R By B B ff i w = i
XAE 5S4 rRY 2
H 1.00 3, 588. 00 3,588(2.00H / 8H
A B 15PS%
H 1.00 55, 831. 00 55, 831|8H
BRI
A 1.00 60, 600. 00 60, 600
I ERET
A 1.00 52, 300. 00 52, 300
B RETE
A 1.00 41, 100. 00 41,100
HEHF
A 0.50 34, 900. 00 17, 450
GNSSBIf & RTKGNSS (43 E&HEHARK)
H 1.00 88, 770. 00 88, 770
TILFE—LBEERFR 36~455kHz
H 1.00 339, 900. 00 339, 900
HHH 2HED%
% 2.00 659, 539. 00 13,190
=) 5 YEZEREN  1.00=K 672,729.00 672,729
B=:1
B RBRT—42 774 DR kiR EEL)
2 7 1B - IR B B B i i i
AR AR
A 1.00 60, 600. 00 60, 600
RIETRED
A 1.00 52, 300. 00 52, 300
RERER
A 1.00 41, 100. 00 41,100
REDF
A 1.00 34, 900. 00 34, 900
HHH SED%
% 0.50 188, 900. 00 944
=) 5 YEZEREN : 1.00 189, 844. 00 189, 844




R &I/ \vr—2

MEERZIESF

&5 .8
%5 . BATHE 1mEHY
£ [ R - KT B = i £ = w =
B2 FEHEm
A 1.00 60, 600. 00 60, 600
pili=g5 31
A 0.50 52, 300. 00 26, 150
& Hi 1YEZRER : 1.00[E 86, 750. 00 86, 750
=9
27 REBE HEEP)
% b R - KT B = i £ E H %
BIEFEHEM
A 0.50 60, 600. 00 30, 300
Bl E HEm
A 0.50 52, 300. 00 26, 150
& it 1EZ8EH : 1.00[E] 56, 450. 00 56, 450
&5 :10
&F EBRES KPEH (RILFE—LHIE) 14y
% b R - KT B = i £ E H %
EBHRERERE
=® 1.00 75, 000. 00 75, 000
& it 1E%8ESN : 1.00=C 75, 000. 00 75, 000
E#5: 1
L% EIEERE 1KY
% L] R - KT ==Rivi = il %8 = g &
MIXEERE E-AYUTRE
=® 1.00 48, 300. 00 48, 300
= B YE¥REH 1,00 48, 300. 00 48, 300




R &I/ \vr—2

M

REZREF

512
B fFRETE X5y
% 5 Mg - BARTE By E i # i = " %
AIEE AR
A 0.50 60, 600. 00 30, 300
BRI E AR
A 0.50 52, 300. 00 26, 150
R E BN
A 0.50 41,100. 00 20, 550
AEBF
A 0.50 34,900. 00 17,450
M E3zI0%!
% 0.50 94, 450. 00 472
& fES£EEN : 1. 00 94, 922. 00 94,922
E#S .13
B FERR VR ROHE - HA XY
= # Mg - fARTE By £ i # ' " &
Xi@E= ER A
=] 0.50 3,588.00 1,794/2.00H / 8H
IR A FRP D 70PSE!
=] 0.50 81,980. 00 40, 990|8H
BIE E A
A 0.50 60, 600. 00 30, 300
B R
A 0.50 52, 300. 00 26, 150
B B PR BT
A 0.50 41,100. 00 20, 550
GNSSTILTEE RTKGNSS (REEEAAR)
B 0.50 88, 770. 00 44, 385
MEH E37Yol)
% 5.00 164, 169. 00 8,208
& fE$£REN : 1. 00K 172,377.00 172,371




RER-FET/\vr— MESEENES

&5 14
£ UAVIZ K ZZErhigE 14y
£ [ R - KT B B =2 B {f £ £ W E w =
RBEE 54 kN2 2L
H 0.50 3, 588.00 1,794/2.00H / 8H
A= FRP D 70PSZ!
H 0.50 81, 980. 00 40, 990(8H
A= EEHER
A 0.50 60, 600. 00 30, 300
pili=g5 31
A 0.50 52, 300. 00 26, 150
I E H A
A 0.50 41,100. 00 20, 550
GNSSHIfIZEE RTKGNSS (4FEHEBHAR)
H 0.50 88, 770. 00 44, 385
UAVAIA R UmEe
H 0.50 19, 800. 00 9,900
MM 2{Rn%
% 5.00 174, 069. 00 8,703
& it 1E%8ERH : 1.00=C 182,772.00 182, 772
&S :15
& ZREMRET (U CFILT—2 DER) 14y
4 b R - KT B B = B i & ) W E H %
Bl S HEn
A 0.50 41, 100. 00 20, 550
MM 2{Rn%
% 0.50 20, 550. 00 102
& it 1E%8ESN : 1.00=C 20, 652.00 20, 652




R &I/ \vr—2

MEERZIESF

&5 .16
B USO FT—2DERRUEEL 1XEY
£ [ R - KT B = B {f £ e w =
A= EEHER
A 0.50 60, 600. 00 30, 300
pili=g5 31
A 0.50 52, 300. 00 26, 150
I E H A
A 0.50 41,100. 00 20, 550
REBF
A 0.50 34, 900. 00 17, 450
MME 2&F0Y
% 0.50 94, 450. 00 472
& B 1EZRERN  1.00K 94,922.00 94, 922
&5 .11
&8 RET—2 7714 DR (RBER) 1XHY
4 b R - KT By £ B i £ E H %
BIEFEHEM
A 1.00 60, 600. 00 60, 600
Bl E HEm
A 1.00 52, 300. 00 52,300
Bl S HEn
A 1.00 41,100. 00 41,100
REBF
A 1.00 34, 900. 00 34, 900
MM 2{Rn%
% 0.50 188, 900. 00 944
& it 1E%8ESN : 1.00=C 189, 844.00 189, 844
55 :18
&% EBRES KPEH (UAVL—YHIE) X5y
% L] R - KT B = B @ %8 E g &
EBHRERERE
=® 1.00 19, 000. 00 19, 000
= it YE¥REH 1,00 19, 000. 00 19, 000




R &I/ \vr—2

REZREF

E5:19
B 3RFTT— A ERK 14y
£ [ R - KT B = i £ w =
F{EHRAm GRED
A 1.00 66, 900. 00 66, 900
HEm (A)
A 2.00 59, 600. 00 119, 200
HEm (B)
A 3.00 48, 500. 00 145, 500
HEh (C)
A 2.00 40, 300. 00 80, 600
EBRARE FEEDY
% 3.00 412, 200. 00 12, 366
& Hi 1EZRERN  1.00K 424, 566. 00 424, 566
E5:20
B MESER 14y
4 b R - KT B = Ll £ H %
BIEFEHEM
A 1.00 60, 600. 00 60, 600
Bl E HEm
A 1.00 52, 300. 00 52,300
Bl S HEn
A 1.00 41,100. 00 41,100
REBF
A 2.00 34, 900. 00 69, 800
MM 2{Rn%
% 0.50 223, 800. 00 1,119
& it 1E%8ESN : 1.00=C 224, 919. 00 224,919

10




MEERLAIES

No.

% L

g - AR

BT

i

s (H)

K {iiNo.

iR % F

RAARRHE - BARTE

2t3E

30, 549

4.70H / 8H

N

HEME QEEREZY)

S4 kN2 2L

3,588

2.00H / 8H

w

BETX N GERMED

E=N

BETX L ERRED

TIILFE—LBIR GERESMAD

TIILFE—LBIR GERAED

13

EERRUBREERDKE - &l

14

UAVIZ&kBZEhigs

w

REM

FRP D 70PS%!

81,980

8H

w

BETA N GERESMED

TIILFE—LBIR GERESMAD

13

BERRUVRERDORE - 88

14

UAVIZ&kBZEhigs

st

15PSHY

55, 831

8H

E=N

BETA L GEERRAED

TIILFE—LBIR GERAED




B fi% BEERENES

HifiRES : 1
BElREH: FSvY otk 1H2%Y 4.70H / 8H
% i1 Mt - fRTiE By % B B i £ # wm = w %

E23:

L 18.00 149. 00 2,682
EEF (—#)

A 1.00 23, 500. 00 23,500
BH (F5 o [EERD) 217

i 4.70 213.00 1,283 B
BH (F5 o [EERD) 217

B 1.13 2,730.00 3,084 #me
& & 30,549
HfiRES : 2
BfiRA  SBE 54 b 2 1E%Y 2.00H / 8H

# h Bt - kTR B % B B ¢ = = " =

AVUY

L 7.00 162. 00 1.134
B (54 rAUVHAVIIVYOY - T (REERIE HSR=E2.0L
BEE)]) B 2.00 287.00 574 B
B (54 rAUVHAVIIVYOY - T (REERIE HSR=E2.0L
BEE)]) = 1.19 1. 580. 00 1,880 #ma
- 3,588




B(f* EREANEE
HERES : 3
Bfik&% : AEMm FRP D 70PSE! 1B%Y 8
£ i} R - IR BifI =3 fill i) i " %
FimA
L 44. 00 115. 00 5, 060
=R E
A 1.20 31, 900. 00 38,280/ 3=1.20
BE GUEMIFRPELT) D 70PSE! 3.0GT
H 1.00 3,210. 00 3,210 eIy =|
BE GUEMIFRPELT) D 70PSE! 3.0GT
=] 1. 65 3, 360. 00 5,544| a=1. 65 #“AR
RiGEEE
% 26.15 52, 094. 00 13, 622
—REEE
% 24. 75 65, 716. 00 16, 264
& i 81,980
HERES : 4
B{fREHM : Moo ife  15PSE 1% Y 8H
£ L] R - BIKsTiE B = i i) i ik =
VP
L 14. 00 162. 00 2,268
LTEME
A 1.20 26, 200. 00 31,440/ 8=1.20
B (o) FRP& 5. 5m
=] 1.00 672.00 672 BEH
B (o) FRP& 5. 5m
=] 1. 65 666. 00 1,098| a=1. 65 a3 l=!
RiGEEE
% 26.15 35,478.00 9,271
—REEE
% 24. 75 44,755. 00 11,076
& &t 55, 831




